Geometry-A Name \<e3
Practice: Transformation Compositions

Complete the chart with the work and final coordinates of the image for each step of the composition. Sketch the
initial figure and final image on the graph provided. ‘Label both figures.
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1. Pre-image: H(1,-2), 1(3,1), J(-2,-3), K(1,-2) *
Rotate the figure 180° about the origin. (Y} (-x,-y ) ':
H1-a) 5 1’ (-1,2) x
B 50 ()
I(-204) 297 (2,3) =
1
K(1,-2) 21! (4,3) :
Translate the figure according to (x,y)>(x+1, y+5) T R R SRR ¥4 s 61 kv
4'(-,2) = (e, 28) 5 4o (0,1) '
V(30 5 (e, 50 (2,) "
-4
' (2.3) 5 (241,3¢5) 59" (5,¢) =
4
K (-62) 5 (et 2¢€) 5t (6,1) 7
| R
-
¥
2. Pre-image: D(-10,6), E(-2,6), F(-4,9), G(-8,9) - Ctvei)
Translate the figure according to (x,y)>(x+1, y-8) A
D) > (1M, 6:8) 5 D’ (-4,-2) /’_b___ ¢ 1:
E(-2,6) 2 (2¢),68) 5 £ (-1,-2) /” \ 8
blue ) \ g 7
F(48) 5 (), 4-8) » F' (3,1) / o o
(—g,‘l)q (_gu/q-g) 26" (-‘l,l) | | 4
i 3
- [} 2
Reflect the figure over the liney = -1 e - £ e let ot
0'(-4,-2) - p* (-4,0) R e 5 -"5{4 D E GRS
, T TS T L T TR TS T T 1
I N 'Z D E‘“ 'ilc g \_. r d :-_: %
E'1-2) tue) purpte v ] £ e 4
I.l' U 0t : ! -
Fi3) et (33) / 6 P I
6'(-11) 5 (a,3) 7 .
Reflect the figure over the y-axis  (x.y) > (-x,q) . T
ou(_q‘o) o D'"(q.c) | In.‘r
E"(-1,0) 2 £"(1,0) erange
F'(-3-3)> F" (3-3)
6"(-13) 5 6" (1,-3]
(1.-3) B




3. Pre-image: L(7,2), M(0,9), N(-6,-5) - Cree

Reflect the figure over the y-axis (21Y) 3 (%)
L(]lz) e/ L' ('111)

M(0.4) 5 m'(¢,9) >bmt

N(—b!'S) -)N‘(@;_&'J

| Reflect the figure over the x-axis _(x.g_) ) (x,-\j)
Ve o ()
M (0,9)> ™" (0,9) / purpie

N'(6,-6) > N (6,5)

) ~ P,
] . 4 - 7 - -5 .
(R {/xf.s ra

Translate the figure according to (x,y)>(x-5, y-2)

! (102) 9 (175 -a-a) 2 L (4a,4)

MY (0,4) 5 (675, -6-2) 5 " (-5, -11) ) Red
W . _ i o

N' (05) 5 (65, 5-3) 5 N (, 3)
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-~ et - [~
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Reflect the figure over the liney =x.  (%,y) (y,®)

L (’ld.'q) Sy (-‘\.“ld) \\
M (-5, 41) 5 M (An-8) / Orafge

N (\‘3) PN (;“)

4. Pre-image: A(0,0), B{8,1), C(5,5) - (;veedl

Rotate the figure 270° about the origin.  (x,4) (y,-x)
A(0,0) > A’ (0,0)

B(sN) >3 (1,-8) / blue

c(68) 2 ¢! (5,-5)

Reflect the figure over the line x =1
A'(0,0) » A" (2,0) \
3 (1-8)-B" (1,-8) 4 purply

(4,(5"5)‘) C“ ('3:’5) "fl

5

Translate the figure according to (x,y)>(x+6, y-1)
A'(2,0) 5 (2406, 0-1) > A" (g,-1)

B'(1-8) 5 (146, 44) > 8" (7,-3) >Red

"(-3,-) 5 (3+6,-51) 5 " (3,70)

Reflect over the line y = -x (XY) 9 (-y,-x)
A'“(S’«") A (h-g)

B (-l'-q) -)P>““ (‘\,‘1 ) / black

('"(3,-%) "(,““ (b,'})




